DAILY BASIS ASSIGNMENT 2

DATE/ DAY---21.04.2020/TUESDAY STD-7

Subject: ENGLISH

Tick the kind of noun denoted by the underlined nouns

1. The Telegraph is a widely read newspaper.
(a) Common noun

(b) Proper noun

(c) Material noun

(d) Compound noun

2. The statue is made of clay.

(a) Common noun
(b) Abstract noun
(c) Material noun
(d) Collective noun

3. There are piles of books in the library.
(a) Common noun

(b) Proper noun

(c) Material noun

(d) Collective noun

4. Honesty is a quality which only few people have these days.
(a) Common noun

(b) Abstract noun

(c) Material noun

(d) Proper noun

5. Dhoni is a famous cricket player.
(a) Common noun

(b) Proper noun

(c) Collective noun

(d) Abstract noun
SUBJECT-MATHS

1.-9-(-6)="?

i)-15ii)-3iii)3 iv)15

2.By how much does 2 exceed—3?
i)-1ii)1iii)-5iv)5

3.What must be subtracted from 1toget-6?

i)50i)5iii)7 iv)-7



4.How much less than—2is—6?
i)4ii)4iii)8iv)s8
5. On subtracting 4 from—4 we get
i)8ii)8iii)0iv)i6
SUB-PHY
Multiple Choice Questions (select the correct one):-
1.In a distance-time graph, time is represented on:
(a) X-axis (b) Y-axis (c) any axis (d) depends on the data
2. Distance-time graph of non-uniform motion is:
(a) straight line (b) curved line
(c) first straight then curved line (d) first curved then straight line
3. Speed=50km/h, time=10h, then distance covered is:
(a) Skm (b) 50km (c) 500km (d) 60km
4 A car covered Okm in 1h, the car is in:
(a) rest (b) motion (¢) uniform motion (d) non-uniform motion
5.A car is running in reverse gear, the car is in:
(a) rest (b) motion (c) neither rest nor motion  (d) cannot be decided
SUBJECT—CHEMISTRY
MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION) ;
1.The acid present in curd is
a) citric acid b) acetic acid ¢) hydrochloric acid d) lactic acid
2.The acid present in lemon is
a) citric acid b) acetic acid ¢) hydrochloric acid d) lactic acid
3.Which of the following is a strong base
a) calcium hydroxide b) sodium hydroxide
¢) sodium carbonate d) ammonium hydroxide

4.Which of the following is a strong acid



a) nitric acid b) citric acid ¢) acetic acid d) tartaric acid
5.The acid produced naturally in our stomach is

a) tartaric acid b) citric acid c) hydrochloric acid d) sulphuric acid
SUB-BIOLOGY

Multiple choice questions :

1. Plants take carbon dioxide from the atmosphere mainly through their :

a) roots b) stems c) flowers d) leaves
2. One of the following is an autotroph. This one is :
a) alligator b) algae  c) antelope d) ant

3. The process of photosynthesis converts solar energy into :

a) Kinetic energy  b) chemical energy c¢) potential energy d) nuclear energy

4. The simplest food produced during photosynthesis is :
a) starch  b) cellulose  c¢) glucose  d) sucrose

5. Which part of the plant is called its food factory?

a) stem b) roots c) branches  d) leaves
SUB-HISTORY

Q. Multiple choice questions(MCQ) :

1. Ibn Batutah's Rihla is

a. a work of religious literature b. a Travel account c.an eulogy

2. A Prashasti is a

a. writing praising somebody b. travel account c. historical work

3. Who brought water wheel to India?

a. The Persian b. The French c. The Dutch

4. Who brought litchis to India?

a. The Arabs b. The Afghans  c¢. The Chinese

5. Sikhism originated in a. 12th century AD b. 4th century AD c. 15th century

AD



SUBJECT — COMPUTER
Q. Multiple choice questions (select the correct one):-
6. All the......cccvvvviireene together combine to form a computer system.
a) Storage Device b) Components ¢) Programs d) None of these
7. There are .......ccccceevveeeevennnee. stages to computer process: input, processing and output
a) Three b) two c) one d) None of these
8. Computer system is designed to follow set of instruction known as .....................
a) Output b) Interface ¢) Program d) None of these
9. Speakeris an .........cccceeveeeuenen. device
a) Output b) Input ¢) Processing d) None of these
10. Computer is an .........cccceeeveenvennee. device

a) Storage b) electronic c) input d) None of these
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() 3T 341
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